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Instructions :

(i) First 15 minutes &ted for the candidates to read the question paper.
(11)

All questions a ulsaory.
(ur) Il us?mtez’\ﬁwers with labelled diagrams, wherever necessary.

ftv)  Marks alitted to each question are mentioned against it,

(Multiple Choice Questions)

1. Choose the correct option and write in your answer-book
‘a)  Production of which gas is responsible for raised appearance of dough
fermented by bacteria ? 1
W 0, G €O,
(i) SO, vy NO,
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(b}

(c)

(d)

348 (CJ)

Who confirmed that DNA 1s a genetic material ?

(1) Matthew Meselson and Franklin Stahl
(1) Alfred Hershey and Martha Chase
(i11)  Beadle and Tatum

(1v)

Watson and Crick

What is cotyledon called in the grass family ?

(1) Scutellum
(1)  Coleoptile
(1)  Perisperm
(iv)  Dormancy

The example of chromosomal disorder 18 : :0

(i) Turner syndrome
(ii)  Haemophilia
(iii)  Colour blindness

IV Ium]kvtonnna

(Definite ;@1 ype Questions)

Draw a labelled diagr ynoeclum

Name two nltrog&ng microorganisms.
What is H&@mct} ?

Wh electrophoresis ?

e the name of one genetically modified plant.

(Very Short-Answer Type Questions)
What are the two main reasons for the loss of biodiversity ?
Write a short note on transgenic animals with examples.
Write about the two acids obtained from microbes.
What is pollen grain ? Draw a labelled diagram of lt

Write down the main parts of a transcription unit.

3}

I1+1
1+1
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example.

What do veu understand by sex-linked inheritance ? Expl

(Short-Answer Type Questions)

What is a seed ? Describe the structure of any one seed. 1+2

Write short notes on the following :

1
(1) Commensalism ! E
1
(11 Amensalism I B
Who was Mendel ? Write down the names of his laws of inheritance. 1+2

What is innate immunity ? How many types of barriers are present in

innate immunity & 1+2

Deseribe o nuc eosome with diagrams. 9 3

s of this disease. 1+2

What 1s filariasis ? Describe the causes and sva

What are Restriction enzvimes ? How ma§® are there ? Discuss. 1+2

Describe Bioreactor in brief with dia@ https://www.upboardonline.com 3
O

Draw the Mansversegecti;n of Ahther. 3

Write a short note on T#Malassemia disease. 3

What are i'ermem&erages ! Deseribe it with examples. 1+2

Draw a labe aphical cut diagram of mammary gland. ) 3

0\< N
% (Long-Answer Type Questions)

ain it with any one

24142
OR

Explain Hershey and ! ""%fjms‘m with diagrams. What did they conclude

from their experiment ”
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X i : v 7 F in in
What is immunity ? How many types of immunity are therc ? Explain

2+1+2
detail.

OR

Wrile an essay on role of microorganisms in human welfare,

. : d
What is adaptation ? Discuss different types of adaptations found in plants an

2+3
animals, &

OR

. * " - I3 -’ F . 2+3
What do you mean by biodiversity ? Explain insitu and @zw conservation
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